Dette er tekst.
4 + 4,

a + b;
(a + b)*;

a2
a:=3;

a,

b==x2—9;

Simpliﬁ/( 43 );

Solve(x2 —3x+2=0,x);

fi=x->
3-x
fi=x>—F;
1 49-x2
f(0);
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plot(f(x), x=-1.1);
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diff (f (x), x);
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simplify(diff (f (x), x));



3(-14+9x%)

: . (16)
(1 —|—9x2)
plot({ f (x), diff (f(x), x)}, x=-1..1);
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int(f(x), x);
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solve(f(x) =0.2, x);
0.06957071750, 1.597095949

circle == x* —I—y2 =1;
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with(plots);

[animate, animate3d, animatecurve, arrow, changecoords, (23)
complexplot, complexplot3d, conformal, conformal3d, contourplot,
contourplot3d, coordplot, coordplot3d, densityplot, display,
dualaxisplot, fieldplot, fieldplot3d, gradplot, gradplot3d,
implicitplot, implicitplot3d, inequal, interactive, interactiveparams,
intersectplot, listcontplot, listcontplot3d, listdensityplot, listplot,
listplot3d, loglogplot, logplot, matrixplot, multiple, odeplot, pareto,
plotcompare, pointplot, pointplot3d, polarplot, polygonplot,
polygonplot3d, polyhedra_supported, polyhedraplot, rootlocus,
semilogplot, setcolors, setoptions, setoptions3d, spacecurve,
sparsematrixplot, surfdata, textplot, textplot3d, tubeplot|

implicitplot(circle, x=-1..1, y=-1.1);
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implicitplot({circle, yT +x*=1 , X=-2.2,y=-2 ..2);
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polarplot(1 + cos(theta), theta=0..2-P1);



evalf(%);

0.8000000000

int(e_xz, x=0 ..t);

1 \/;erf(\/ In(e) t)

2 In(e)
evalf(int(e_xz, x=0 ..4) );
0.8862269255 erf(4./ In(e) )

V In(e)

0.9999999846
with(Student| VectorCalculus]);

evalf (erf(4))
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[&x, ™, "+, -, ., <>, <|>, About, ArcLength, BasisFormat, (28)
Binormal, ConvertVector, CrossProduct, Curl, Curvature, D, Del,
DirectionalDiff, Divergence, DotProduct, FlowLine, Flux,
GetCoordinates, GetPVDescription, GetRootPoint, GetSpace,

Gradient, Hessian, IsPositionVector, IsRootedVector, IsVectorField,
Jacobian, Laplacian, Linelnt, MapToBasis, Nabla, Norm,
Normalize, PathInt, PlotPositionVector, PlotVector, PositionVector,
PrincipalNormal, RadiusOfCurvature, RootedVector,
ScalarPotential, SetCoordinates, SpaceCurve, SpaceCurveTutor,
Surfacelnt, TNBFrame, Tangent, TangentLine, TangentPlane,
TangentVector, Torsion, Vector, VectorField, VectorFieldTutor,
VectorPotential, VectorSpace, diff, evalVF, int, limit, series ]
= t—(cos(4-Pi-t), sin(4-Pi-¢), 1);
t—>Student:—VectorCalculuS.- <,>(cos(4mt),sin(4me), 1) 29
<cos(4*Pi*t),...>
SpaceCurve(r(t), t=0..1, axes = normal);



Graph of the curve represented parametrically by the components of the
given vector.

TangentVector(r(t));
-4sin(4mt)
4cos(4me) m (30)

1

TangentVector(r(t), normalized);



— _4sin(4me)m _
J1+16m
4cos(4dme) m
> (2]
J1+16m
1
J1+16m
TNBFrame(r(t));
_4sin(4ne) m sin(4 7 ¢)
J1+16d | | e
-cos(4 1 e)
4cos(4me)m __cos(4my)
> || -sin(4ms) |, 7 (32)
J1+16m . J1+16m
1 - ] 4m
Ji+ier Jr+16m
Curvature(r(t));
cos(47tz‘)2 T sin(47tt)2 T
16 ;T 2
I +167 1 +16m
(33)
J1+16m
simplify(Curvature(r(t)));
2
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F = (x,y)—>x-sin(Pi-y);
(x, y) —>x sin(my) 35)
plot3d(F(x, y), x=-1.1, y=-1..1, axes = normal);



with(Student| MultivariateCalculus]);

[ Approximatelnt, ApproximatelntTutor, CenterOfMass, (36)
ChangeOfVariables, CrossSection, CrossSectionTutor, Del,
DirectionalDerivative, DirectionalDerivativeTutor,

FunctionAverage, Gradient, GradientTutor, Jacobian,
LagrangeMultipliers, Multilnt, Nabla, Revert, SecondDerivativeTest,
SurfaceArea, TaylorApproximation, TaylorApproximationTutor ]

Gradient(F(x, y))

FError, invalid input: Gradient uses a 2nd

rgumen f 1i nam 1i nam =
1i nam And (realcon N infini 1i
nam = listli nam And (realcon N

Gradient(F(x, y), [x, y1);



sin(7y)

@37
xcos(my) T
TaylorApproximation(F(x, y));
Error, invalid input: TavlorApproximation uses a
2nd argument, pts (of type {name = {name, And
(realcons, Not(infinity))}, 1ist(name) = 1ist(
{name, And(realcons, Not (infinity))})}), which is
missing
TaylorApproximation(F(x, y), [x, y] = 1[0, 0]);
lé—onsxys—%ﬂ?xf—ﬂtxy (38)
mtaylor(F(x, y), [x, y], 20);
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implicitplot3a’(x2 —y2 = 22, x=-4.4,y=-4.4,z=-4 .4, grid=[40, 40,
401);



4.4, grid
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implicitplot3d({x* — y*

= [40, 40, 40]);



intersectplot(x2 —y2 =22, z=2,x=-4.4,y=-4.4,z=-4 A4);






